[bookmark: _GoBack]Daily Practice – 40
1) 542.84 + 672.49 =
2) 287,639 – 177,932 =
3) 332 x 75 =
4) 5,418 ÷ 7 = 
5) What’s larger:  or 
6) 0.892 x 1,000 = 
7) 23 = 
8) 6.21km = _____ metres
Daily Practice – 39
1) 167,892 + 476,591 =
2) 672.5 – 382.6 =
3) 28 x 65 =
4) 7,513 ÷ 6 = 
5)  -  = 
6) 239.5 ÷ 100 = 
7) 13 + k + k = 31         k = ?
8) 73mm = _____ cm
Daily Practice – 38
1) 783.98 + 652.99 =
2) 8,991 – 3,839 =
3) 315 x 24 =
4) 54,895 ÷ 5 = 
5)  +  = 
6) 2.91 x 100 = 
7) 1  as an improper fraction:
8) 23,913 ml = _____ litres
Daily Practice – 37
1) 147,762 + 893,267 =
2) 458.28 – 23.74 =
3) 54 x 22 =
4) 4,327 ÷ 4 = 
5) What’s larger:  or 
6) 6,781 ÷ 1,000 = 
7)  as a mixed number
8) 6.87 litres = _____ ml
Daily Practice – 36
1) 908.08 + 145.29 =
2) 89,702 – 23,792 =
3) 263 x 26 =
4) 7,891 ÷ 3 = 
5)  +  = 
6) 781.4 x 10 =
7)  1 + 8 x 3 = 
8) 4,592g = _____ kg
Daily Practice – 35
1) 673,981 + 190,083 =
2) 674.08 – 267.34 =
3) 62 x 18 =
4) 5,894 ÷ 2 = 
5)  -  = 
6) 28.93 ÷ 10 = 
7) 52 =
8) 4.91 metres = _____ cm
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